RB/RBCEFIIRER HELE 23

\ , MR =ELE -
by | ==t | mmA | mEk | x4 | R
DDC71 FTiEEk / e -10~80°C
| ppcrz | sk | o0 | B egm | mm | -10-80C
i
W-Q
(w T ¥ DDCO2 st z
\ P ‘
al | |
i v
-
#$iAH \L T
w
DDC12 a__ st z
\ P ‘
‘ o | ﬁ |
= z ﬂi A
# [N Y
-4
?L‘E X$iAH \J ‘T!
42
[ME] Be BN |47532(mm) w 4 P D Q N H T
RB0604 M6X0.75 4 32.5 28.5 22.5 1.8 / / 8 3
RB0805 M8X1.0 5] 45. 8 40. 8 33.4 S| / / 12 8]
RBC0805 M8X1. 0 5 51.3 40. 8 33.4 3 8.5 6.8 12 3
RB0806 M8X1. 0 6 46. 8 40. 8 33.4 3 / / 12 3
RBC0806 M8X1. 0 6 55.3 40. 8 33. 4 3 8.5 6.8 12 3
RB1006 M10X1. 0 6 52.7 46. 7 39 3 / / 12 4
RBC1006 M10X1. 0 6 62.7 46. 7 39 3 10 8.7 14 4
RB1007 M10X1.0 7 53.7 46.7 39 3 / / 14 4
ggg?; RBC1007 M10X1.0 7 63.7 46. 7 39 3 10 8.7 14 6
RB1411 M14X1. 5 11 78.3 67.3 58. 8 5 / / 19 6
RBC1411 M14X1.5 11 91.8 67.3 58.8 5 13.5 12 19 6
RB1412 M14X1. 5 12 79.3 67.3 58.8 5 / / 19 6
RBC1412 M14X1. 5 12 92.8 67.3 58.5 5 13.5 12 19 6
RB2015 M20X1. 5 15 88. 2 73.2 62.2 6 / / 26 6
RBC2015 M20X1. 5 15 105. 2 73.2 62.2 6 17 18 26 6
RB2725 M27X1.5 25 124 99 86 8 / / 36 6
RBC2725 M27X1. 5 25 147 99 86 8 23 25 36 6

s DDC02-RB0604

D) 2 HADelivery
5B e E_: | o |
RB0604 ﬂ o 3= -

. —. DDCO02 e S
BIEERITER RB0805 oA @A LINEREEAR

Q www.vipdo.cn @ 400-098-1117 \Eam= et e el rp =]
P1677 CHRERIMNE RS, ILRWEERE, ILZtEE!



